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Exercise 11.2
1. Findthe area of each of the follow mg parallelograms:

N /T [
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1. Findthe area ol ench of the following tnangles:
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3. Findihe missing values:

5.No, Base Height |Aren of the Paraliclogram
o 20em 246 em®
h 15em 154.5 em?’
€ 8dem 48 72 emi®
d 156 em 1638 em®

PERIMETER AND AREA S

4. Find the missing values:

Base Helght | Areaofl Triangle
15cm 87 cm?
P Q
I Amm 1256 mm*
2em 170 5 cm? N
. . 5 M 11
£, PORSisaparallelogram (Fig 11.23) QM isthe height from Q Fig 1.3

10 SR and QN s the height from Q1o PS ICSR = |2 em and
OM=T76cm Find
{a) the areaofthe parllegram POQRS  (b) QNAfPS=Eem M

6. DLand BM are the heights on sides AB and AD respectively of

parallclogram ABCD (Fig 11 .24). Ifthe area of the parallelogram [ B
is 1470 e’ AB =35 crnand AD = 4% em, find the length olBM L
and DL Fig 11.24

7. AADC s nght angled at A{Fig 11.25) ADus perpendicularto BC. ITAB =5 ecm,
BC =13 em and AC = |2 em. Find the arca of AABC. Also find the length ol
AD. A

.
C R D 9um c

13 em
Fig 11.18 Fig 11.16

8 AABRC s sosceles with AB=AC =TS emand BC=%em(Fig 11 26) The height
AD from A to BC, is 6 em. Find the area ol AARC, What will be the height from C
wAHie CE?
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